

**Factors Associating with Shuttle Walking Test Results in Community-Dwelling
Elderly People.**

Daiki Adachi, Shu Nishiguchi, Naoto Fukutani, Hiroki Kayama, Takanori Tanigawa,
Taiki Yukutake, Takayuki Hotta, Yuto Tashiro, Saori Morino, Minoru Yamada, PhD,
Tomoki Aoyama, MD, PhD

Department of Physical Therapy, Human Health Sciences, Kyoto University Graduate
School of Medicine, Japan

Short Title: Factors associated with SWT results

Corresponding author: Daiki Adachi, PT

Department of Physical Therapy, Human Health Sciences, Graduate School of Medicine,
Kyoto University, Kyoto, Japan
53 Kawahara-cho, Shogoin, Sakyo-ku, Kyoto 606-8507, Japan

Tel: +81-75-751-3935

Fax: +81-75-751-3909

E-mail: adachi.daiki.53z@st.kyoto-u.ac.jp

33 Abstract

34 **Background:** The shuttle walking test (SWT) is a simple, widely used method for
35 assessing endurance performance in the elderly. Despite widespread community use, its
36 associated factors are unclear.

37 **Aims:** We aim to identify previously undefined SWT association factors in
38 community-dwelling elderly people.

39 **Methods:** Herein, 149 healthy elderly Japanese subjects performed the SWT, and were
40 assessed for height, weight, smoking history, 10-m walk time, Timed Up and Go (TUG)
41 scores, handgrip strength, skeletal mass index (SMI), forced vital capacity (FVC),
42 forced expiratory volume in 1 s (FEV₁), cardio-ankle vascular index, and ankle brachial
43 index. We divided men and women into higher and lower SWT score groups, compared
44 between-group parameters, and performed stepwise multivariate logistic regression
45 analysis to identify factors independently associated with SWT scores.

46 **Results:** Age, BMI, 10-m walk time, TUG score, SMI, FVC (lit.; %-predicted), and
47 FEV₁ (lit.; %-predicted) were significantly different between SWT score groups for men,
48 while in women, significant differences were observed in age, TUG score, handgrip
49 strength, FVC (lit.; %-predicted), and FEV₁ (lit.; %-predicted) ($p < 0.05$). In the
50 multivariate logistic regression model, 10-m walk time, and FEV₁ showed significant
51 associations with SWT results in men; among women, age was the only significantly
52 associated factor ($p < 0.05$).

53 **Conclusions:** Results indicate that better lung function and shorter walk time
54 independently associate with SWT results in community-dwelling men; in women, age

55 is the only association. Our findings may offer insight when considering the focus of
56 community exercise programs among the elderly.

57

58 **Keywords:** shuttle walking test; endurance function; community-dwelling elderly
59 people; lung function

60

Introduction

In our currently aging society, it has been shown that preserving higher endurance in elderly populations increases their level of physical activity [1] and prevents frailty [2], cardiovascular disease [3], and even mortality [4]. The accepted standard for endurance evaluation is the measuring of maximum oxygen consumption ($\text{VO}_2 \text{ max}$) via treadmill. However, this requires technical equipment and the expertise of a tester, and is instituted only in laboratory or hospital settings. Thus, to preserve endurance among the community-dwelling elderly, a more straightforward and acceptable endurance assessment is required.

The incremental shuttle walking test (SWT) was developed by Singh [5] to assess the endurance of patients with chronic obstructive pulmonary disease (COPD) [5] or chronic heart failure [6, 7]. The SWT required subjects to walk back and forth along a 10-m flat course, with progressive increases in pace imposed by audio signals, until the subject was no longer able to maintain the pace [5]. The SWT can yield a physiological response similar to a treadmill test [8]. Therefore, use of the SWT is pervasive as a reliable endurance assessment test. The SWT can be administered in the local community; some previous studies have demonstrated its usefulness for evaluating endurance in community-dwelling people [9-11]. Moreover, to evaluate large numbers of people in varied non-laboratory settings, the SWT is a simpler and lower-cost method than the treadmill test, which is regarded as the most precise endurance test for community-dwelling elderly.

In recent years, SWT results have been shown to associate with various factors

such as age [10, 11], sex [11], body composition [10], gait parameter [7, 10, 12], lung function [13] and cardiovascular function [14]. However, the enrolled study subjects were of varied age, and presented with an array of health conditions ranging from healthy subjects to patients suffering from COPD or heart failure. For the community-dwelling elderly, investigating the determinants of SWT data may reveal what function physicians should focus on to increase endurance performance of this demographic. However, relatively few studies exist that aim to investigate SWT results in such an age group. Therefore, the aim of the present study was to determine the factors associated with SWT results in community-dwelling elderly people.

Material and Methods

Subjects

Elderly community-dwelling subjects were recruited through local press advertising from November 11–12, 2012. A total of 149 subjects (73 men and 76 women aged 74 ± 4 years) were enrolled upon having met the inclusion criteria (age ≥ 65 years, able to walk independently). Exclusion criteria were using walking aids such as a cane or walker, having a medical history (or post-operative history) of severe cardiac, musculoskeletal, or pulmonary disease, and having significant hearing impairment. Demographic data including age, body mass index (BMI), and smoking history were obtained. To assess smoking history, the pack-years index [15] was calculated for each subject by multiplying the number of cigarette packs smoked per day by the number of smoking years.

Written informed consent was obtained from each subject in accordance with the guidelines of the Kyoto University Graduate School of Medicine and the 1995 Declaration of Helsinki. This study protocol was approved by the ethics committee of the Kyoto University Graduate School of Medicine.

SWT

The SWT required subjects to walk back and forth along a 10-m flat course, with progressive increases in pace imposed by audio signals, until the subject was no longer able to maintain the pace. Up to 50 successions of the SWT were performed (500 m total walking). We divided subjects into 2 groups based on SWT scores: ≤ 40 or > 41 [16].

Motor function tests

All subjects were assessed using the 10-m walk test, Timed Up and Go (TUG) test, and handgrip strength test. In the 10-m walk test, subjects walk along 10-m flat pathways at a comfortable speed [17]. In the TUG test, participants were instructed to stand up from a standard chair with a seat height of 40 cm, walk a distance of 3 m at their fastest pace, turn, walk back to the chair, and sit down. The time elapsing from the verbal command to begin the task until completion was recorded with a stopwatch [18]. The 10-m walk time and TUG scores were defined as the mean time in seconds recorded at the subjects' second trials. In the handgrip strength test, participants used a hand-held dynamometer with the arm kept to the side of the body. Participants squeezed

the dynamometer with maximum isometric effort. No other body movement was allowed [19]. The handgrip test score was defined as the better performance of two trials.

Skeletal muscle mass index (SMI)

A bioelectrical impedance data acquisition system (Inbody 430; Biospace Co., Ltd., Seoul, Korea) was used to determine body composition [20]. Participants were asked to stand on two metallic electrodes and hold metallic grip electrodes while the system applied a constant current of 800 mA at 50 kHz through the body. The data acquisition system calculated the resistance value and muscle mass of the respective body parts (right arm, left arm, right leg, left leg, and trunk). Appendicular skeletal muscle mass was determined using segmental body composition and muscle mass excluding the trunk; a value for the appendicular skeletal muscle mass was determined and used for the current analysis. SMI was obtained by dividing the appendicular skeletal muscle mass by the square of height (kg/m^2). This index has been used and well-documented in several epidemiological studies[21].

Lung function

All subjects underwent spirometric evaluation. Forced vital capacity (FVC), and forced expiratory volume in 1 s (FEV_1) were measured by a spirometer (Spiro Sift SP-370; Fukuda Denshi Co., Ltd., Tokyo, Japan). Next, we calculated percent predicted FVC and FEV_1 , corrected for height and age. Pulmonary function tests were carried out

according to the guidelines of the Japanese Respiratory Society [22]. The formulae for calculating percent predicted FVC and FEV₁ were derived from Japanese criteria [23]. The FEV₁/FVC ratio was also calculated.

Cardiovascular function

All subjects underwent cardio-ankle vascular index (CAVI) evaluation and ankle brachial index (ABI) evaluation, which were determined using the VaSera-1500 (Fukuda Denshi Co., Ltd., Tokyo, Japan) as previously reported [24, 25].

CAVI is a novel method for measuring arterial stiffness. Until recently, pulse wave velocity (PWV) was the most popular measure; however, PWV was dependent on blood pressure at the time of measurement. CAVI was calculated based on parameter β , independent of blood pressure [26]. Scores ≤ 9.00 were considered normal while scores > 9.00 were considered indicative of suspected arteriosclerosis [27]. The ABI described the arterial occlusion with a ratio of the ankle to brachial systolic blood pressure [28]. Normal values $0.91 \leq \text{ABI} \leq 1.30$ and values ≤ 0.90 indicated suspected peripheral artery disease (PAD) [29].

When measuring CAVI and ABI, subjects were supine and had blood pressure cuffs on both of the brachia and ankles. Measurements were taken once per subject, and mean values of the right and left CAVI and ABI scores were calculated. Using these index values, we calculated the population (%) with suspected arteriosclerosis and PAD.

Statistical analyses

We analyzed the difference in each variable between men and women, and between subjects with higher and lower SWT results. We performed a Chi-squared (χ^2) test to analyze the population with suspected arteriosclerosis and PAD. Moreover, statistical tests such as t-tests were also conducted to assess the influence of other variables.

Next, we examined factors associated with the SWT results using a stepwise multivariate logistic regression model. We assigned the high SWT results group as a dependent variable and age, BMI, SMI, 10-m walk time, handgrip strength, FVC (lit.), FEV₁ (lit.), FEV₁/FVC ratio, and suspected arteriosclerosis population as explanatory variables.

All statistical analyses were performed with SPSS 20.0 software (SPSS Inc., Chicago, IL, USA). A p-value <0.05 was considered statistically significant for all analyses.

Results

Measurements of the 149 subjects are summarized in Table 1. There were significant differences between men and women in the pack-years index, TUG score, handgrip strength, SMI, FVC (lit.), FEV₁ (lit.), FEV₁ (%-predicted), and suspected arteriosclerosis population ($p < 0.05$).

Forty-two men and 26 women were classified into the higher SWT results group and 31 men and 50 women were classified into the lower SWT results group. Among men, there were significant differences between higher and lower SWT results groups in

age, BMI, 10-m walk time, TUG score, SMI, FVC (lit.), FVC (%-predicted), FEV₁ (lit.), and FEV₁ (%-predicted) ($p < 0.05$). In women, there were significant differences between higher and lower SWT results groups in age, TUG score, handgrip strength, FVC (lit.), FVC (%-predicted), FEV₁ (lit.), and FEV₁ (%-predicted) ($p < 0.05$).

In the multivariate logistic regression analysis, variables that remained in the final step of the regression model were considered to be significantly correlated with a higher SWT result. In men, these were 10-m walk time ($p = 0.001$), and FEV₁ ($p < 0.001$), whereas in women, age ($p < 0.001$) was the only significantly correlated variable (Table 2).

Discussion

We analyzed the association between SWT results and age, body composition, motor function, lung function, and cardiovascular function in community-dwelling elderly people. We found that younger age, higher FEV₁, and shorter 10-m walk time were associated with higher SWT results in men, and that younger age associated with higher SWT results in women. To date, there are few studies of the relationship between lung function and SWT results in community-dwelling elderly people. The results of the present study suggest that maintaining better lung function and walk speed is the key to preserving endurance in community-dwelling elderly men.

It has been previously shown that a decrease in FEV₁ increases dyspnea during exercise and results in decreased walk speed and endurance in patients with airflow limitation [13, 30, 31]. We considered that in community-dwelling elderly populations,

a lower capacity for lung function would increase subjects' dyspnea during the SWT test, resulting in decreased walk speed and SWT results. According to the American College of Chest Physicians guidelines [32], it is still unclear which lung function is improved by pulmonary rehabilitation in airflow limitation patients. Moreover, there are only a few studies that report that pulmonary rehabilitation improves lung function among community-dwelling elderly people. Therefore, we consider that pulmonary exercises, such as improving thorax and respiratory muscle mobility, and employing breathing techniques, may sustain better lung function and preserve endurance performance in this demographic. Further investigation, such as measuring dyspnea following the SWT, is needed to prove this hypothesis. In addition, we demonstrated an association between lung function and endurance exclusively among men. This may be attributed to the difference in smoking history between men and women in our study. As shown in Table 1, compared to women, men had a significantly higher pack-years index and significantly lower FEV₁. Smoking is one of the strongest risk factors for respiratory disease [33]. Our results in community-dwelling elderly men indicate that smoking may decrease lung function, resulting in lower SWT results. To better understand the association between lung function and endurance in community-dwelling elderly women, further research should be conducted in another population that includes women with a history of smoking.

We have shown that age associates with SWT results in women. Reports indicate that age can adversely affect a person's cardiovascular function and endurance level [34, 35]. Moreover, it is possible to separate factors that affect endurance according to

utilization theory and presentation theory [36]. Utilization theory acts on the premise that endurance is determined by the oxygen (O₂)-consuming parties, while presentation theory states that it is determined by the O₂-supplying party. Saltin et al. showed that endurance is more markedly affected by O₂ presentation than by utilization [36]. In the present study, lung function, considered to be a presentation theory component, affected endurance performance more so than SMI, cardiovascular function, and motor function, which are components of the utilization theory. We also considered that our findings, with regard to age, may be associated with low cardiac function, which could potentially yield decreased SWT results. It would have been beneficial to additionally measure cardiovascular function parameters, such as stroke volume and pulse.

There are several limitations to the scope of our research. First, because this is a cross-sectional study, the causal relationship between endurance and lung function, walk speed, or age is uncertain. Moreover, the study sample did not include women with a history of smoking. As smoking history has great impact on lung function, this may be a source of sampling bias; therefore, the scope of our investigation should be extended to subjects in other communities. Another source of study limitation is that we were unable to assess other SWT-affecting factors, although these may indeed affect SWT results. In addition to cardiovascular function and dyspnea factors, previous studies have shown that step length can affect SWT or 6 min walk test results [7, 37]. Thus, further analysis should be undertaken to identify additional factors that may be of importance to endurance performance.

259 **Conclusion**

260 We found a significant association between lung function, walk speed, and SWT
261 results in community-dwelling elderly men, and between age and SWT results in
262 women. In this society, prevention for bedridden and taking care is an important issue in
263 terms of medical economics. Elderly men with a high level of expiratory function
264 display high endurance performance. Although this is a cross-sectional study, our results
265 may help advise physicians of ways in which they can promote endurance performance
266 among the elderly, through focusing and adapting community exercise programs.
267 However, further investigation is required to assess the impact of cardiovascular
268 function on SWT results in community-dwelling elderly populations.

269

270 **Acknowledgements**

271 We would like to thank the students of the School of Human Health Sciences at
272 Kyoto University for their help with data collection.

273

274

References

- [1] Chmelo E, Nicklas B, Davis C, Miller GD, Legault C, Messier S (2012) Physical activity and physical function in older adults with knee osteoarthritis. *J Phys Act Health* 10:777-783.
- [2] Pereira SR, Chiu W, Turner A, Chevalier S, Joseph L, Huang AR, Morais JA (2010) How can we improve targeting of frail elderly patients to a geriatric day-hospital rehabilitation program? *BMC Geriatr* 10:82.
- [3] Sui X, LaMonte MJ, Laditka JN, Hardin JW, Chase N, Hooker SP, Blair SN (2007) Cardiorespiratory fitness and adiposity as mortality predictors in older adults. *JAMA* 298:2507-2516.
- [4] Garber CE, Blissmer B, Deschenes MR, Franklin BA, Lamonte MJ, Lee IM, Nieman DC, Swain DP (2011) American college of sports medicine position stand. Quantity and quality of exercise for developing and maintaining cardiorespiratory, musculoskeletal, and neuromotor fitness in apparently healthy adults: Guidance for prescribing exercise. *Med Sci Sports Exerc* 43:1334-1359.
- [5] Singh SJ, Morgan MD, Scott S, Walters D, Hardman AE (1992) Development of a shuttle walking test of disability in patients with chronic airways obstruction. *Thorax* 47:1019-1024.
- [6] Green DJ, Watts K, Rankin S, Wong P, O'Driscoll JG (2001) A comparison of the shuttle and 6 minute walking tests with measured peak oxygen consumption in patients with heart failure. *J Sci Med Sport* 4:292-300.
- [7] Pepera G, Cardoso F, Taylor MJ, Peristeropoulos A, Sandercock GR (2013) Predictors of shuttle walking test performance in patients with cardiovascular disease. *Physiotherapy* 99(4):317-322.
- [8] Singh SJ, Morgan MD, Hardman AE, Rowe C, Bardsley PA (1994) Comparison of oxygen uptake during a conventional treadmill test and the shuttle walking test in chronic airflow limitation. *Eur Respir J* 7:2016-2020.
- [9] Dourado VZ, Banov MC, Marino MC, de Souza VL, Antunes LC, McBurnie MA (2010) A simple approach to assess vt during a field walk test. *Int J Sports Med* 31:698-703.
- [10] Dourado VZ, Guerra RL, Tanni SE, Antunes LC, Godoy I (2013) Reference values for the incremental shuttle walk test in healthy subjects: From the walk distance to physiological responses. *J Bras Pneumol* 39:190-197.

308 [11] Jurgensen SP, Antunes LC, Tanni SE, Banov MC, Lucheta PA, Bucceroni AF,
309 Godoy I, Dourado VZ (2011) The incremental shuttle walk test in older Brazilian adults.
310 Respiration 81:223-228.

311 [12] Bardin MG, Dourado VZ (2012) Association between the occurrence of falls and
312 the performance on the incremental shuttle walk test in elderly women. Rev Bras
313 Fisioter 16:275-280.

314 [13] Dyer CA, Singh SJ, Stockley RA, Sinclair AJ, Hill SL (2002) The incremental
315 shuttle walking test in elderly people with chronic airflow limitation. Thorax 57:34-38.

316 [14] Lane AD, Wu PT, Kistler B, Fitschen P, Tomayko E, Jeong JH, Chung HR, Yan H,
317 Ranadive SM, Phillips S, Fernhall B, Wilund K (2013) Arterial stiffness and walk time
318 in patients with end-stage renal disease. Kidney Blood Press Res 37:142-150.

319 [15] Benaards CM, Twisk JW, Snel J, Van Mechelen W, Kemper HC (2001) Is
320 calculating pack-years retrospectively a valid method to estimate life-time tobacco
321 smoking? A comparison between prospectively calculated pack-years and
322 retrospectively calculated pack-years. Addiction 96:1653-1661.

323 [16] Tanigawa T, Hirashima M, Fukutani N, Nishiguchi S, Kayama H, Yukutake T,
324 Yamada M, Aoyama T (2014) Shoe-fit is correlated with exercise tolerance in
325 community-dwelling elderly people. Footwear Science. In press

326 [17] Lopopolo RB, Greco M, Sullivan D, Craik RL, Mangione KK (2006) Effect of
327 therapeutic exercise on gait speed in community-dwelling elderly people: A
328 meta-analysis. Phys Ther 86:520-540.

329 [18] Podsiadlo D, Richardson S (1991) The timed "Up & Go": A test of basic functional
330 mobility for frail elderly persons. J Am Geriatr Soc 39:142-148.

331 [19] Roberts HC, Denison HJ, Martin HJ, Patel HP, Syddall H, Cooper C, Sayer AA
332 (2011) A review of the measurement of grip strength in clinical and epidemiological
333 studies: Towards a standardised approach. Age Ageing 40:423-429.

334 [20] Gibson AL, Holmes JC, Desautels RL, Edmonds LB, Nuudi L (2008) Ability of
335 new octapolar bioimpedance spectroscopy analyzers to predict 4-component-model
336 percentage body fat in hispanic, black, and white adults. Am J Clin Nutr 87:332-338.

337 [21] Janssen I, Baumgartner RN, Ross R, Rosenberg IH, Roubenoff R (2004) Skeletal
338 muscle cutpoints associated with elevated physical disability risk in older men and
339 women. Am J Epidemiol 159:413-421.

340 [22] Tojo N, Suga H, Kambe M (2005) [Lung function testing – the Official Guideline

of the Japanese Respiratory Society]. *Rinsho Byori* 53:77-81.

[23] (2004) [Guideline of respiratory function tests – spirometry, flow-volume curve, diffusion capacity of the lung]. *Nihon Kokyuki Gakkai Zasshi Suppl*:1-56.

[24] Shirai K, Utino J, Otsuka K, Takata M (2006) A novel blood pressure-independent arterial wall stiffness parameter; cardio-ankle vascular index (CAVI). *J Atheroscler Thromb* 13:101-107.

[25] Shirai K, Hiruta N, Song M, Kurosu T, Suzuki J, Tomaru T, Miyashita Y, Saiki A, Takahashi M, Suzuki K, Takata M (2011) Cardio-ankle vascular index (CAVI) as a novel indicator of arterial stiffness: Theory, evidence and perspectives. *J Atheroscler Thromb* 18:924-938.

[26] Shirai K, Utino J, Saiki A, Endo K, Ohira M, Nagayama D, Tatsuno I, Shimizu K, Takahashi M, Takahara A (2013) Evaluation of blood pressure control using a new arterial stiffness parameter, cardio-ankle vascular index (CAVI). *Curr Hypertens Rev* 9(1):66-75.

[27] Nakamura K, Tomaru T, Yamamura S, Miyashita Y, Shirai K, Noike H (2008) Cardio-ankle vascular index is a candidate predictor of coronary atherosclerosis. *Circ J* 72:598-604.

[28] Lin JS, Olson CM, Johnson ES, Whitlock EP The ankle-brachial index for peripheral artery disease screening and cardiovascular disease prediction among asymptomatic adults: a systematic evidence review for the U.S. Preventive Services Task Force. *Ann Intern Med* 159(5):333-341.

[29] Rooke TW, Hirsch AT, Misra S, Sidawy AN, Beckman JA, Findeiss L, Golzarian J, Gornik HL, Jaff MR, Moneta GL, Olin JW, Stanley JC, White CJ, White JV, Zierler RE (2013) Management of patients with peripheral artery disease (compilation of 2005 and 2011 ACCF/AHA guideline recommendations): A report of the American College of Cardiology Foundation/American Heart Association Task Force on practice guidelines. *J Am Coll Cardiol* 61:1555-1570.

[30] Sava F, Perrault H, Brouillard C, Darauay C, Hamilton A, Bourbeau J, Maltais F (2012) Detecting improvements in dyspnea in COPD using a three-minute constant rate shuttle walking protocol. *COPD* 9:395-400.

[31] Kon SS, Patel MS, Canavan JL, Clark AL, Jones SE, Nolan CM, Cullinan P, Polkey MI, Man WD (2013) Reliability and validity of 4-metre gait speed in COPD. *Eur Respir J* 42:333-340.

374 [32] Ries AL, Bauldoff GS, Carlin BW, Casaburi R, Emery CF, Mahler DA, Make B,
375 Rochester CL, Zuwallack R, Herrerias C (2007) Pulmonary rehabilitation: Joint
376 ACCP/AACVPR evidence-based clinical practice guidelines. *Chest* 131:4S-42S.
377 [33] Kohansal R, Martinez-Camblor P, Agusti A, Buist AS, Mannino DM, Soriano JB
378 (2009) The natural history of chronic airflow obstruction revisited: An analysis of the
379 framingham offspring cohort. *Am J Respir Crit Care Med* 180:3-10.
380 [34] Astrand I, Astrand PO, Hallback I, Kilbom A (1973) Reduction in maximal oxygen
381 uptake with age. *J Appl Physiol* 35:649-654.
382 [35] Fleg JL, Strait J (2012) Age-associated changes in cardiovascular structure and
383 function: A fertile milieu for future disease. *Heart Fail Rev* 17:545-554.
384 [36] Saltin B, Rowell LB (1980) Functional adaptations to physical activity and
385 inactivity. *Fed Proc* 39:1506-1513.
386 [37] Pepera GK, Sandercock GR, Sloan R, Cleland JJ, Ingle L, Clark AL (2012)
387 Influence of step length on 6-minute walk test performance in patients with chronic
388 heart failure. *Physiotherapy* 98(4):325-329.

389

390 **Table 1. Comparison of demographic characteristics and measurements**

	Men				Women				<i>p</i> -value**
	All (n = 73)	Higher level SWT (n = 42)	Lower level SWT (n = 31)	<i>p</i> -value*	All (n = 76)	Higher level SWT (n = 26)	Lower level SWT (n = 50)	<i>p</i> -value*	
<i>General characteristics</i>									
Age, years (SD)†	73.7 (4.6)	72.3 (4.1)	75.6 (4.7)	0.002	73.4 (4.3)	70.2 (3.5)	75.1 (3.7)	<0.001	0.71
BMI, kg/m ² (SD)†	23.4 (3.1)	24.1 (3.0)	22.6 (3.1)	0.048	23.3 (2.7)	22.6 (2.3)	23.7 (2.8)	0.09	0.81
Smoking-pack-years index (SD)†	29.0 (30.0)	27.2 (33.7)	29.9 (24.6)	0.81	0 (0)	0 (0)	0 (0)	-	<0.001
<i>Motor function</i>									
10-m walk time, s (SD)†	7.3 (1.0)	6.9 (0.7)	7.8 (1.1)	<0.001	7.3 (1.3)	6.9 (0.8)	7.5 (1.5)	0.06	0.81
TUG, s (SD)†	6.4 (1.1)	6.1 (0.9)	7.0 (1.0)	<0.001	6.9 (1.1)	6.4 (0.8)	7.2 (1.1)	0.004	0.008
Handgrip strength, kg	33.4 (5.9)	34.4	32.4 (5.9)	0.09	23.0	24.3 (3.1)	22.3 (3.9)	0.02	<0.001

(SD)†		(5.8)			(3.8)				
<i>Body composition</i>									
SMI, kg/m ² (SD)†	7.3 (0.7)	7.5 (0.7)	7.0 (0.6)	0.01	5.8 (0.6)	6.0 (0.6)	5.7 (0.5)	0.02	<0.001
<i>Lung function</i>									
FVC, lit. (SD)†	3.2 (0.6)	3.4 (0.5)	3.0 (0.4)	<0.001	2.2 (0.5)	2.5 (0.4)	2.1 (0.5)	<0.001	<0.001
FVC, %-predicted (SD)†	96.2 (13.8)	99.1 (12.7)	92.2 (14.3)	0.03	97.6 (16.0)	104.5 (15.6)	94.0 (15.1)	0.01	0.56
FEV ₁ , lit. (SD)†	2.3 (0.6)	2.5 (0.5)	2.0 (0.5)	<0.001	1.6 (0.5)	1.9 (0.4)	1.5 (0.4)	<0.001	<0.001
FEV ₁ , %-predicted (SD)†	88.1 (18.4)	92.5 (17.3)	82.1 (18.4)	0.02	96.9 (21.1)	105.5 (20.2)	92.4 (20.3)	0.01	0.007
FEV ₁ /FVC, % (SD)†	71.0 (10.5)	72.7 (8.9)	68.8 (12.1)	0.11	72.6 (11.2)	75.5 (11.9)	71.1 (10.6)	0.10	0.39
<i>Cardiovascular function</i>									

Suspected arteriosclerosis, %††	72.6	71.4	74.2	0.79	48.6	34.6	56.0	0.08	0.003
Suspected PAD, % ††	5.5	0	0	-	1.3	0	2.0	0.47	0.56

Note: BMI, body mass index; TUG, Timed Up and Go; SMI, skeletal mass index; FVC, forced vital capacity; FEV₁, forced expiratory volume in 1 s; PAD, peripheral artery disease.

†: t-test, ††: χ^2 -test

*: comparison between higher and lower level of SWT

**: comparison between men and women

Table 2. Multivariate logistic regression model with stepwise selection to determine the association with shuttle walking test level

	Odds ratio	95% CI	<i>p</i> -value
<i>Men</i>			
10-m walk time (s)	0.24	0.11–0.54	0.001*
FEV ₁ (lit.)	12.80	3.05–53.70	0.001*
<i>Women</i>			
Age	0.69	0.57–0.82	< 0.001**

*: $p < 0.05$, **: $p < 0.001$

Note: CI, confidence interval; FEV₁, forced expiratory volume in 1 s.